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SECTION – A (5 × 8 = 40)

Answer any FIVE questions.
ALL questions carry equal marks.

1. Explain the reasons for the growth of State
Intervention in the economy.

2. What are the functions of Planning Commission?

3. Describe the instruments of Fiscal Policy.

4. Analyze the causes for industrial sickness.

Turn Over

10. √¬ÿÔV^ÁÔl[ ºÂV¬Ô∫ÔÁ· skˆ¬Ô.

11. ÿ√VÚ·V>V´  k·ÏflEl_ ˛´V\ \uÆD,  EÆ

ÿ>Va_Ôπ[ √∫˛Á™ skV]¬Ô.

12. ÿ>Va_ cˆ\¬ ÿÔV^ÁÔl[ ÷B_AÔÁ· skˆ¬Ô.

13. ŒÚ ÂV‚Ω[ ÿ√VÚ·V>V´  k·ÏflEl_ ∂ÕWB

JÈ>™›][ x¬˛B›mk›Á> s·¬zÔ.
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5.Explain the features of Industrial Policy
Resolution,1956.

6.Describe the sources of industrial finance.

7.Discuss the objectives of price and distribution
controls.

8.Analyze the measures undertaken by the
Government of India to promote export.

SECTION – B(3 × 20 = 60)

Answer any THREE questions.
ALL questions carry equal marks.

9.Analyze the salient features of Indian Planning.

10.Describe the objectives of Monetary Policy.

11.Discuss the role of village and small scale
industries in economic development.

12.Discuss the features of Industrial Licensing
Policy.

13.Explain the importance of foreign capital in the
economic development of a country.
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√z] á ∂ √z] á ∂ √z] á ∂ √z] á ∂ √z] á ∂(5 $ 8 = 40)

∞º>–D nÕm  nÕm  nÕm  nÕm  nÕm s™V¬Ô”¬z sÁ¶Bπ.

®_ÈV ®_ÈV ®_ÈV ®_ÈV ®_ÈV s™V¬Ô”¬zD ƒ\ƒ\ƒ\ƒ\ƒ\ \]©ÿ√ıÔ^.

1.ÿ√VÚ·V>V´›]_ ∂´∑› >ÁÈX‚Ω[ k·ÏflE¬ÔV™¬

ÔV´∫ÔÁe s·¬zÔ.

2.]‚¶¬ zøs[ √ËÔ^ BVÁk?

3.W]¬ÿÔV^ÁÔl[ ÔÚsÔÁ· skˆ¬Ô.

4.÷Õ]BVs_ ÿ>Va_ ÂokÁ¶suÔV™

ÔV´∫ÔÁ·© √z›>VFÔ.

5.ÿ>Vau ÿÔV^ÁÔ› yÏ\V™D, 1956á÷[

÷B_AÔÁ· s·¬zÔ.

6.ÿ>Va_ W] JÈ∫ÔÁ· skˆ¬Ô.

7.sÁÈ \uÆD, √˛Ï°¬ Ô‚|©√V‚Ω[ ºÂV¬Ô∫ÔÁ·

skV]¬Ô.

8.∞uÆ\]ÁB º\D√|›mk>uÔVÔ ÷Õ]B ∂´ƒV∫ÔD

º\uÿÔVı¶ Â¶kΩ¬ÁÔÔÁ·© √z›>VFÔ.

√z] á g √z] á g √z] á g √z] á g √z] á g(3 $ 20 = 60)

∞º>–D nÕm  nÕm  nÕm  nÕm  nÕm s™V¬Ô”¬z sÁ¶Bπ.

®_ÈV ®_ÈV ®_ÈV ®_ÈV ®_ÈV s™V¬Ô”¬zD ƒ\ƒ\ƒ\ƒ\ƒ\ \]©ÿ√ıÔ^.

9.÷Õ]B› ]‚¶t¶o[ E≈©A ∂Dƒ∫ÔÁ·© √z›>VFÔ.
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